WORK AUTHORIZATION # CM2995-WA01 NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS (PIGGYBACK AGREEMENT)

Consultant:	Proshot Concrete, Inc.	
Contract Number:	CM2995	
Contact Name:	Bill Morris	
Contact Number:	256-483-9092	
Email:	billm@proshotconcrete.com	

	CURRENT WOR	K AUTHORIZATION				
Project Short Title: Br	idge Repairs Multiple l	Locations				
		CONTRACT OVERVIEW				
Date Submitted	7/11/2021	Total of Previous Authorizations	\$0.00			
Amount	\$695,085.00	This Work Authorization	\$695,085.00			
Scheduled Completion	155 days/NTE 1/31/22	Current Contract Total	\$695,085.00			

This Work Authorization is to the AGREEMENT between Nassau County and the Vendor known as Proshot Concrete, Inc. for Routine Bridge Maintenance Repairs, approved by the BOCC on or about August 9, 2021. The services to be provided under this Work Authorization are as follows:

ARTICLE 1. Services Described as:

Proshot Concrete, Inc. shall provide bridge repairs in accordance with the details contained in Exhibit "A", attached hereto and incorporated herein.

ARTICLE 2. Time Schedule

Proshot Concrete, Inc. anticipates their earliest starting date to be thirty (30) days from receipt of execution of this Work Authorization with an estimated duration of one-hundred fifty-five (155) days to complete repairs upon starting. All repairs shall be completed no later than January 31, 2022.

ARTICLE 3. Budget

Proshot Concrete, Inc. will perform the services outlined herein for the lump sum amount of \$695,085.00. Proshot Concrete, Inc. fee amounts are detailed further in Exhibit "A". Proshot Concrete, Inc. will be using rates established under Contract CM2995.

ARTICLE 4. Other Provisions

The services covered by this Work Authorization will be performed in accordance with the provisions set forth in the AGREEMENT referenced above and any of its attachments or schedules. Additional terms or contract provisions whether submitted purposely or inadvertently, shall have no force or effect. This Work Authorization will become a part of the referenced AGREEMENT when executed by both parties.

In presenting this Work Authorization, Vendor agrees that:

Unless detailed herein, all drawings, data, electronic files and other information required for this Work Authorization has been accepted by Vendor. Specifically, all electronic files have been reviewed and accepted for the purposes of this work assignment. Any additional information, including detailed scope of services are attached.

AGREED TO BY:

BY: Unthony McDougle	
Print Name:Anthony McDougle	
Title: President	
Date: 7/13/2021	

RECOMMENDED AND APPROVED BY NASSAU COUNTY:

County Engineer:	Robert Companion Department Head or Designee
Procurement:	Marshall Eyerman Brian Simmons
Office of Management & Budget:	Megan Dield Megan Diehl
County Manager:	Taco E. Pope, AICP Taco E. Pope, AICP
Ex-Officio Clerk:	John Crawford
County Attorney:	Michael Mullin Michael S. Mullin
APPROVED by the BOARD OF COUL., 2021.	NTY COMMISSIONERS, this day of
	BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA
	*
	Thomas R. Ford Chairman

ACCOUNT NO.: 03405541-546000 BRDGR

July 11, 2021- Revised

Nassau County Engineering Services 96161 Nassau Place Yulee, FL 32097

RE:

Bridge repairs - Multiple Locations

Work Description

Mr. Hurst,

Bridge # 740042

1. Filling erosion in slopes and installing sand-cement riprap.

Bridge # 740044

- 1. Fill void in shoulder
- 2. Repair spalls
- 3. Replace wooden post

Bridge # 740047

- 1. Fill undermining of wingwalls
- 2. Inject and seal cracks
- 3. Fill washout area on slope
- 4. Repair spalls

Bridge # 740048

- 1. Fill undermining of wingwalls
- 2. Inject and seal cracks
- 3. Fill washout area on slope
- 4. Repair spalls

Bridge # 740063

- 1. Place rubble in front of box culvert
- 2. Fill slope erosion
- 3. Repair spalls

Bridge # 740064

- 1. Fill undermining at toe wall
- 2. Repair spalls
- 3. Fill washout and install rubble riprap

Bridge # 740065

- 1. Fill undermining at toe wall
- 2. Repair spalls

P.O. BOX 1636 • 4158 MUSGROVE DRIVE • FLORENCE, ALABAMA 35631-1636 TELEPHONE: (256) 764 - 5941 • TOLL FREE: (800) 631 - 3141 • FAX: (256) 764 - 5946 WWW.PROSHOTCONCRETE.COM



SHOTCRETE CONTRACTORS & ENGINEERS

3. Fill washout and install rubble rip rap

Bridge # 740067

- 1. Fill undermining at toe wall
- 2. Repair spalls
- 3. Seal cracks
- 4. Fill erosion and install rubble riprap

Bridge # 740070

- 1. Repair spalls
- 2. Fill erosion at approach slab
- 3. Seal joints

Bridge # 740071

1. Repair spalls

Bridge # 740095

- 1. Fill slope erosion and install sand cement rip rap
- 2. Seal bridge joints.

Bridge # 740097

1. Fill slope erosion and installing sand cement riprap

Bridge # 744007

- 1. Repair spalls
- 2. Install sand cement riprap

Bridge # 744308

- 1. Fill undermining at toe wall
- 2. Fill erosion on slopes and install sand cement riprap

Bridge # 744310

- 1. Fill undermining at approach slab
- 2. Seal bridge joints
- 3. Repair spalls

Bridge # 744311

- 1. Fill undermining at toe wall with rubble rip rap
- 2. Seal cracks
- 3. Repair spalls

Bridge # 744312

- 1. Clean and paint rails
- 2. Repair spalls
- 3. Seal bridge joints

Bridge # 744314

- 1. Seal cracks
- 2. Seal bridge joints and repair headers
- 3. Fill erosion and install rubble riprap

P.O. BOX 1636 • 4158 MUSGROVE DRIVE • FLORENCE, ALABAMA 35631-1636
TELEPHONE: (256) 764 - 5941 • TOLL FREE: (800) 631 - 3141 • FAX: (256) 764 - 5946
WWW.PROSHOTCONCRETE.COM



Bridge # 744314

- 1. Fill erosion
- 2. Seal bridge joints

This is a brief narrative of the work that will be completed on each bridge.

I anticipate our earliest starting date at this time would be 30 days after receipt of work authorization and work will continuous with a total estimated completion of about 155 calendar day but no later than January 31,2022

If you have any questions please give me a call.

Thank you,

Bill Morris

Project Manager

billm@proshotconcrete.com

256-483-9092

P.O. BOX 1636 • 4158 MUSGROVE DRIVE • FLORENCE, ALABAMA 35631-1636
TELEPHONE: (256) 764 - 5941 • TOLL FREE: (800) 631 - 3141 • FAX: (256) 764 - 5946
WWW.PROSHOTCONCRETE.COM

Structure Number	Features Intersected	Facility Carried	Mai	ProShot ntenance Cost
740042	LITTLE ST. MARYS RIVER	CR121A (MIDDLE RD)	\$	4,150.00
740044	BRANCH OF DEEP CREEK	CR 121	\$	4,975.00
740047	BRANCH OF MILL CREEK	CR 108	\$	52,035.00
740048	BRANCH OF DEEP CREEK	CR 108	\$	58,925.00
740063	BRANDY BRANCH	CR 119	\$	9,000.00
740064	BRNCH LITTLE ST MARYS RV	CR 108	\$	47,050.00
740065	DUNN CREEK	CR 115	\$	100,100.00
740067	LITTLE DUNN CREEK	CR 115	\$	73,175.00
740070	EGANS CREEK	N 14TH ST(CR 105A)	\$	73,550.00
740071	WILDER CREEK	CR 121A	\$	1,825.00
740095	MILLS CREEK	CR 115	\$	59,725.00
740097	LAKE HAMPTON	LAKE HAMPTON ROAD	\$	31,125.00
744007	MILLS CREEK	MUSSEL WHITE ROAD	\$	4,925.00
744308	SPELL SWAMP	MIDDLE ROAD	\$	56,750.00
744310	LITTLE ST MARYS RIVER	MURRHEE ROAD	\$	20,420.00
744311	BRANCH OF THOMAS CREEK	FORD ROAD	\$	21,350.00
744312	BRANDY BRANCH	CR 121	\$	26,190.00
744313	MILL CREEK	CR 121	\$	19,200.00
744314	SPELL SWAMP	GRIFFIN ROAD	\$	26,570.00
744315	LANCEFORD CREEK	CR107 BLACKROCK RD	\$	4,045.00

Total: \$ 695,085.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740047-CR 108 (RIVER RD) OVER BRANCH OF MILL CREEK

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER	100	LF	\$0.10	\$10.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
100143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
100145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	375	CF	\$50.00	\$18,750.00
1401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	4	CF	\$400.00	\$1,600.00
3411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB	5	GA	\$10.00	\$50.00
9411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	50	LF	\$40.00	\$2,000.00
1450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
470 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN	_	EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	15	LO	\$625.00	\$9,375.00
104 1 1	SAND FILL EROSION REPAIR	75	CY	\$50.00	\$3,750.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	_	CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
PI	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	5	ED		\$16,500.00
	TOTAL AMOUNT			1	\$52,035,00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740064-CR108 OVER BRANCH OF LITTLE ST MARY'S RIVER

E2Z99		TOTAL			1
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER	1	МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	50.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5	1	SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	450	CF	\$50.00	\$22,500.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	5	CF	\$400.00	\$2,000.00
04111	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	_	LF	\$68.00	\$0.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
0470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
0471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
0471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
0506 72	BRIDGE DRAINS- POWER CLEAN	+	EA	\$75.00	\$0.00
D524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
)530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	10	TN	\$80.00	\$800.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	8	LO	\$625.00	\$5,000.00
2104 1 1	SAND FILL EROSION REPAIR	5	CY	\$50.00	\$250,00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65,00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
NPI	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	5	ED	\$3,300.00	\$16,500.00
	TOTAL AMOUNT	<u> </u>		70,000	\$47,050.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740070- NORTH 14th STREET OVER EGANS CREEK

E 2Z9 9		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	50.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	325	CF	\$50.00	\$16,250.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	30	CF	\$400.00	\$12,000.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB	3	GA	\$10.00	\$30.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	30	LF	\$40.00	\$1,200.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
3455 76	WRAP PILE CLUSTERS	35	EA	\$150.00	\$5,250.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	230	LF	\$68.00	\$15,640.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99	30	LF	\$6.00	\$180.00
1470 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
9471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
9471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
)524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
)530 1	RIPRAP, SAND-CEMENT	10	CY	\$350.00	\$3,500.00
1530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	30	LO	\$625.00	\$18,750.00
104 1 1	SAND FILL EROSION REPAIR	15	CY	\$50.00	\$750.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		UF .	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT				\$73,550.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740097-LAKE HAMPTON ROAD over LAKE HAMPTON

E2Z99		TOTAL			T
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
3401 7 0 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC		CF	\$400.00	\$0.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 Z	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40,00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
)458 1 2 1	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
0470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
47111	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		MB	\$6,000.00	\$0.00
1471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
)524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT	30	CY	\$350.00	\$10,500.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	5	LO	\$625.00	\$3,125.00
104 1 1	SAND FILL EROSION REPAIR	20	CY	\$50.00	\$1,000.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	1	CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE	1	LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS	1	LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
IPI	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	5	ED	\$3,300.00	\$16,500.00
	TOTAL AMOUNT			75,555.00	\$31,125.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744310-MURRHEE ROAD OVER LITTLE ST MARY'S RIVER

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		MH	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	50.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	150	CF	\$50.00	\$7,500.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	5	CF	\$400.00	\$2,000.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
04112	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	80	LF	\$68.00	\$5,440.00
458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99	80	LF	\$6.00	\$480.00
470 1	TREATED TIMBER, STRUCTURAL	1 -	MB	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		MB	\$6,000.00	\$0.00
47112	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		MB	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	+	TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	8	LO	\$625.00	\$5,000.00
104 1 1	SAND FILL EROSION REPAIR	-	CY	\$50.00	\$0.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	+	CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS	1	EA	\$25.00	\$0.00
	TOTAL AMOUNT			725.00	\$20,420.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744313-CR 121 OVER MILL CREEK

E2Z99		TOTAL	1		
TEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
D104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
100143	CLEANING & COATING CONCRETE SURFACE, CLASS 5	_	SF	\$2.00	\$0.00
100145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	3	CF	\$400.00	\$1,200.00
04111	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB	2	GA	\$10.00	\$20.00
2411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	15	LF	\$40.00	\$600.00
1450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	80	LF	\$68.00	\$5,440.00
458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99	40	LF	\$6.00	\$240.00
470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN	1 -	SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	10	TN	\$80.00	\$800.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	8	LO	\$625.00	\$5,000.00
104 1 1	SAND FILL EROSION REPAIR	10	CY	\$50.00	\$500.00
460 19 1	ARMOR ANGLE (REMOVE)	_	LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	9	CF	\$600.00	\$5,400.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT			1,22	\$19,200.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740042-MIDDLE ROAD OVER ST MARY'S RIVER

E2Z99		TOTAL			
TEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER	1	LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN	1	EA	\$75.00	\$0.00
1121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
100143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
00145	CLEANING CONCRETE SURFACE	1	SF	\$0.50	\$0.00
00153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	1	CF	\$400.00	\$0.00
411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB	T	GA	\$10.00	\$0.00
411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
9450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
1470 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT	4	CY	\$350.00	\$1,400.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	4	LO	\$625.00	\$2,500.00
104 1 1	SAND FILL EROSION REPAIR	5	CY	\$50.00	\$250.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8,50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT			T	\$4,150.

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740048- BRANCH OF DEEP CREEK

E2Z99		TOTAL			1
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	500	CF	\$50.00	\$25,000.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC		CF	\$400.00	\$0.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB	1	GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	1	LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
0470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
0471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
0471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
0506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
0524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
0530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	20	TN	\$80.00	\$1,600.00
E102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	9	LO	\$625.00	\$5,625.00
e104 1 1	SAND FILL EROSION REPAIR	6	CY	\$50.00	\$300.00
E460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
E460 ZO 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
E460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
E470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
VPI .	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	8	ED		\$26,400.00
	TOTAL AMOUNT				\$58,925.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740065 -CR 115 OVER DUNN CREEK

E2Z99		TOTAL			· ·
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER	1	LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	1100	CF	\$50.00	\$55,000.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	3	CF	\$400.00	\$1,200.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	1	LF	\$68.00	\$0.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	50.00
0470 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
0471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		мв	\$6,000.00	\$0.00
047112	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		мв	\$6,000.00	\$0.00
0506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
0524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	50.00
0530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	30	TN	\$80.00	\$2,400.00
E102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	12	LO	\$625.00	\$7,500.00
104 1 1	SAND FILL EROSION REPAIR	20	CY	\$50.00	\$1,000.00
E460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPL-GALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS	7	EA	\$25.00	\$0.00
VPI	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	10	ED	\$3,300.00	\$33,000.00
	TOTAL AMOUNT		1		\$100,100.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740071 -CR 121A OVER WILDER CREEK

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	3	CF	\$400.00	\$1,200.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
0470 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
0471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
0471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
0506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
0524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
0530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	1	LO	\$625.00	\$625.00
104 1 1	SAND FILL EROSION REPAIR		CY	\$50.00	\$0.00
460 19 1	ARMOR ANGLE (REMOVE)	1	LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT	1			\$1,825.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744007 -MUSSEL WHITE ROAD OVER MILLS CREEK

E2Z99		TOTAL			
TEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
3401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	5	CF	\$400.00	\$2,000.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
9411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	$\overline{}$	LF	\$40.00	\$0.00
450 83 1	BEAM REPAIR (STRAND SPLICE)	1	EA	\$250.00	\$0.00
1455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
)458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
1458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
1 70 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
47111	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
47112	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		мв	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	50.00
530 1	RIPRAP, SAND-CEMENT	3	CY	\$350.00	\$1,050.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	3	LO	\$625.00	\$1,875.00
104 1 1	SAND FILL EROSION REPAIR		CY	\$50.00	\$0.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT				\$4,925.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744311 -FORD ROAD OVER BRANCH OF THOMAS CREEK

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		мн	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	6	CF	\$400.00	\$2,400.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB	5	GA	\$10.00	\$50,00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	60	LF	\$40.00	\$2,400.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
1455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
1458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68,00	\$0.00
)458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
1 0470	TREATED TIMBER, STRUCTURAL		мв	\$5,000.00	\$0.00
)471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		5Y	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	20	TN	\$80.00	\$1,600.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	8	LO	\$625.00	\$5,000.00
104 1 1	SAND FILL EROSION REPAIR		CY	\$50,00	\$0.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	3	ED	3300	\$9,900.00
	TOTAL AMOUNT			1	\$21,350.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744314 GRIFFIN ROAD OVER SPELL SWAMP

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		MH	\$75.00	\$0.00
D104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	270	CF	\$50.00	\$13,500.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC		CF	\$400.00	\$0.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	80	LF	\$68.00	\$5,440.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99	80	ĹF	\$6.00	\$480.00
0470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
0471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		MB	\$6,000.00	\$0.00
0471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		MB	\$6,000.00	\$0.00
0506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
0524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
0530 1	RIPRAP, SAND-CEMENT	1	CY	\$350.00	\$350.00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
E102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	8	LO	\$625.00	\$5,000.00
104 1 1	SAND FILL EROSION REPAIR		CY	\$50.00	\$0.00
E460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	3	CF	\$600.00	\$1,800.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS	1	EA	\$25.00	\$0.00
	TOTAL AMOUNT				\$26,570.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740044-CR 121 OVER BRANCH OF DEEP CREEK

E2Z99		TOTAL			
TEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
100143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
100145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	3	CF	\$400.00	\$1,200.00
1411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
1411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
470 1	TREATED TIMBER, STRUCTURAL	0.08	МВ	\$5,000.00	\$400.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	3	LO	\$625.00	\$1,875.00
104 1 1	SAND FILL EROSION REPAIR	30	CY	\$50.00	\$1,500.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	50.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT			-	\$4,975.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740063- CR 119 OVER BRANDY CREEK

E 2Z9 9		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER	1	LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
100143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	3	CF	\$400.00	\$1,200.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
1411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
1458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
1458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, EZZ99		LF	\$6.00	\$0.00
1470 1	TREATED TIMBER, STRUCTURAL		МВ	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	**	TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	4	LO	\$625.00	\$2,500.00
104 1 1	SAND FILL EROSION REPAIR	40	CY	\$50.00	\$2,000.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	50.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS	1	EA	\$25.00	\$0.00
(PI	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	1	ED	\$3,300.00	\$3,300.00
	TOTAL AMOUNT			1 2 2 2 2 2 2 2	\$9,000.

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740067 -CR 115 OVER LITTLE DUNN CREEK

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	540	CF	\$50.00	\$27,000.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	5	CF	\$400.00	\$2,000.00
04111	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
1455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
1458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
)470 1	TREATED TIMBER, STRUCTURAL	0.08	МВ	\$5,000.00	\$400.00
0471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		мв	\$6,000.00	\$0.00
1471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
)524 Z 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
)530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE	100	TN	\$80.00	\$8,000.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	15	LO	\$625.00	\$9,375.00
104 1 1	SAND FILL EROSION REPAIR		CY	\$50.00	\$0.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25,00	\$0.00
NPI .	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	8	ED		\$26,400.00
	TOTAL AMOUNT				\$73,175.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 740095-CR 115 OVER MILLS CREEK

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	50.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY	1	CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC		CF	\$400.00	\$0.00
0411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.	1	LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
0455 76	WRAP PILE CLUSTERS	1	EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	200	LF	\$68.00	\$13,600.00
0458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99		LF	\$6.00	\$0.00
0470 1	TREATED TIMBER, STRUCTURAL	1	МВ	\$5,000.00	\$0.00
9471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED	1	МВ	\$6,000.00	\$0.00
0471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
0506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
)524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
)530 1	RIPRAP, SAND-CEMENT	15	СУ	\$350.00	\$5,250,00
0530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	15	LO	\$625.00	\$9,375.00
104 1 1	SAND FILL EROSION REPAIR	30	CY	\$50.00	\$1,500.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	50	CF	\$600.00	\$30,000.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT				\$59,725.00

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744308 -MIDDLE ROAD OVER SPELL SWAMP

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER	1	LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
400145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
400153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB	600	CF	\$50.00	\$30,000.00
0401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC		CF	\$400.00	\$0.00
04111	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
0411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
0450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
)455 7 6	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
0458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
)458 1 4 0	BRIDGE DECK EXPANSION JOINT, HOT POUR, EZZ99		LF	\$6.00	\$0.00
2470 1	TREATED TIMBER, STRUCTURAL		мв	\$5,000.00	\$0.00
9471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
1471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		MB	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
)524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN	1	SY	\$75.00	\$0.00
)530 1	RIPRAP, SAND-CEMENT	5	CY	\$350.00	\$1,750.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	8	LO	\$625.00	\$5,000.00
104 1 1	SAND FILL EROSION REPAIR	4	CY	\$50.00	\$200.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
VPI	UNDERWATER DIVERS FOR UNDERMINING REPAIRS	6	ED		\$19,800.00
	TOTAL AMOUNT			10,000,00	\$56,750.0

4158 MUSGROVE DR. FLORENCE, ALABAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744312-CR 121 OVER BRANCH CREEK

E2Z99		TOTAL			
ITEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
400143	CLEANING & COATING CONCRETE SURFACE, CLASS 5	3000	SF	\$2.00	\$6,000.00
100145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
1401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC	5	CF	\$400.00	\$2,000.00
9411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
1411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD	80	LF	\$68.00	\$5,440.00
1458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2299		LF	\$6.00	\$0.00
470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		MB	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		мв	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT	10	CY	\$350.00	\$3,500.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	10	LO	\$625.00	\$6,250.00
104 1 1	SAND FILL EROSION REPAIR		CY	\$50.00	\$0.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT	5	CF	\$600.00	\$3,000.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT				\$26,190.0

4158 MUSGROVE DR. FLORENCE, ALAHAMA 35630 PHONE: 256-764-5941 FAX: 256-764-5946

BRIDGE # 744315

E2Z99		TOTAL			
TEM NO	DESCRIPTION	QTY	UNIT	PRICE	AMOUNT
0102 14	TRAFFIC CONTROL OFFICER		МН	\$75.00	\$0.00
0104 10 3	SEDIMENT BARRIER		LF	\$0.10	\$0.00
0104 11	FLOATING TURBIDITY BARRIER		LF	\$0.10	\$0.00
0110 85	CLEANING INTERIOR OF SEGMENTAL BOX GIRDER SPAN		EA	\$75.00	\$0.00
0121 70 2	FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		CY	\$100.00	\$0.00
100143	CLEANING & COATING CONCRETE SURFACE, CLASS 5		SF	\$2.00	\$0.00
100145	CLEANING CONCRETE SURFACE		SF	\$0.50	\$0.00
100153	NON SHRINK GROUT, F&I, MISC-STRUCTURES REHAB		CF	\$50.00	\$0.00
401 70 6	SPALLED AREAS RESTORE, THERMOSETTING POLYMER CONC		CF	\$400.00	\$0.00
)411 1	EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB		GA	\$10.00	\$0.00
9411 2	CRACKS INJECT & SEAL- STRUCTURE REHAB.		LF	\$40.00	\$0.00
1450 83 1	BEAM REPAIR (STRAND SPLICE)		EA	\$250.00	\$0.00
455 76	WRAP PILE CLUSTERS		EA	\$150.00	\$0.00
458 1 21	BRIDGE DECK EXPANSION JOINT, REHAB., POURED JOINT WITH BACKER ROD		LF	\$68.00	\$0.00
1458 1 40	BRIDGE DECK EXPANSION JOINT, HOT POUR, E2Z99	70	LF	\$6.00	\$420.00
470 1	TREATED TIMBER, STRUCTURAL		MB	\$5,000.00	\$0.00
471 1 1	FENDER SYSTEM, PLASTIC MARINE LUMBER, REINFORCED		МВ	\$6,000.00	\$0.00
471 1 2	FENDER SYSTEM, PLASTIC MARINE LUMBER, NON-REINFORCED		МВ	\$6,000.00	\$0.00
506 72	BRIDGE DRAINS- POWER CLEAN		EA	\$75.00	\$0.00
524 2 1	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 3IN		SY	\$75.00	\$0.00
530 1	RIPRAP, SAND-CEMENT		CY	\$350.00	\$0.00
530 3 3	RIPRAP, RUBBLE, BANK AND SHORE		TN	\$80.00	\$0.00
102 1 3	MAINTENANCE OF TRAFFIC SITE SPECIFIC CONTRACTS)	5	LO	\$625.00	\$3,125.00
104 1 1	SAND FILL EROSION REPAIR	10	CY	\$50.00	\$500.00
460 19 1	ARMOR ANGLE (REMOVE)		LF	\$65.00	\$0.00
460 20 1	POLYMER JOINT REPLACEMENT		CF	\$600.00	\$0.00
460 20 14	ELASTOMERIC STRUC. JOINT SEAL REPLACE		LF	\$8.50	\$0.00
470 75	TIMBER FENDER SYSTEM REPAIR INCLUDES REM/DISP OF DAMAGED MATERIALS		LF	\$110.00	\$0.00
470 75 1	FENDER SYSTEM FASTING REPLGALV. INCL. U-BOLT, CARRIAGE BOLTS/COUPLING NUTS		EA	\$25.00	\$0.00
	TOTAL AMOUNT				\$4,045.0

Certificate Of Completion

Envelope Id: B62065DD29FA4F26B1A0DF9F99441005

Subject: Please DocuSign: CM2995-WA01,pdf

Source Envelope:

Document Pages: 27

Certificate Pages: 6

AutoNav: Enabled

Envelopeld Stamping: Enabled

Time Zone: (UTC-05:00) Eastern Time (US & Canada)

Status: Completed

Envelope Originator:

Amber Carter

acarter@nassaucountyfl.com

IP Address: 50.238.237.26

Sent: 7/13/2021 3:59:00 PM

Viewed: 7/13/2021 4:04:26 PM

Signed: 7/13/2021 4:22:14 PM

Sent: 7/13/2021 4:22:16 PM

Sent: 7/13/2021 4:27:40 PM

Viewed: 7/13/2021 4:30:10 PM

Signed: 7/13/2021 4:30:26 PM

Sent: 7/13/2021 4:30:28 PM

Viewed: 7/21/2021 11:58:46 AM

Signed: 7/21/2021 12:02:26 PM

Viewed: 7/13/2021 4:27:24 PM

Signed: 7/13/2021 4:27:37 PM

Record Tracking

Status: Original

7/13/2021 3:45:49 PM

Holder: Amber Carter

Signature

Signatures: 6

Initials: 0

acarter@nassaucountyfl.com

Location: DocuSign

Timestamp

Signer Events

Anthony McDougle

cdill@proshotconcrete.com

President

Security Level: Email, Account Authentication

(None)

Robert Companion

Marshall Eyerman

Anthony McDougle

Signature Adoption: Pre-selected Style Using IP Address: 50.247.46.158

Signature Adoption: Pre-selected Style

Signature Adoption: Pre-selected Style

Using IP Address: 50.238.237.26

Using IP Address: 50.238.237.26

Electronic Record and Signature Disclosure: Accepted: 7/13/2021 4:04:26 PM

ID: 6ae852f5-64e1-4a4d-b772-72bc2eff29ad

Robert Companion

RCompanion@nassaucountyfl.com

County Engineer

Nassau County BOCC

Security Level: Email, Account Authentication

(None)

Electronic Record and Signature Disclosure:

Not Offered via DocuSign

Marshall Eyerman

MEyerman@nassaucountyfl.com

Assistant County Manager

Nassau County BOCC

Security Level: Email, Account Authentication

(None)

Electronic Record and Signature Disclosure:

Not Offered via DocuSign

Megan Diehl

mdiehl@nassaucountyfl.com

OMB Director

Nassau County BOCC

Security Level: Email, Account Authentication

(None)

Megan Diebl

Signature Adoption: Pre-selected Style Using IP Address: 50.238.237.26

Electronic Record and Signature Disclosure:

Not Offered via DocuSign

Signer Events	Signature	Timestamp		
Michael Mullin		Sent: 7/21/2021 12:02:28 PM		
mmullin@nassaucountyfl.com	Michael Mullin	Viewed: 7/21/2021 3:40:03 PM		
County Attorney		Signed: 7/21/2021 3:40:15 PM		
Nassau County BOCC	Signature Adoption: Pre-selected Style			
Security Level: Email, Account Authentication (None)	Using IP Address: 50.238.237.26			
Electronic Record and Signature Disclosure: Not Offered via DocuSign				
Taco E. Pope, AICP		Sent: 7/21/2021 3:40:17 PM		
tpope@nassaucountyfl.com	Taco E. Pope, AICP	Viewed: 7/21/2021 3:45:17 PM		
County Manager		Signed: 7/21/2021 3:45:29 PM		
Nassau County BOCC	Signature Adoption: Pre-selected Style			
Security Level: Email, Account Authentication (None)	Using IP Address: 164,51.200.51			
Electronic Record and Signature Disclosure: Not Offered via DocuSign				
In Person Signer Events	Signature	Timestamp		
Editor Delivery Events	Status	Timestamp		
Agent Delivery Events	Status	Timestamp		
Intermediary Delivery Events	Status	Timestamp		
Certified Delivery Events	Status	Timestamp		
Certified Delivery Events Carbon Copy Events	Status Status	Timestamp Timestamp		
	Status			
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com		Timestamp		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication	Status	Timestamp Sent: 7/21/2021 3:45:31 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None)	Status	Timestamp Sent: 7/21/2021 3:45:31 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication	Status	Timestamp Sent: 7/21/2021 3:45:31 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure:	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign	Status	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure:	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Shelley Caldwell scaldwell@nassaucountyfl.com	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM Sent: 7/21/2021 3:45:33 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Shelley Caldwell scaldwell@nassaucountyfl.com Nassau County BOCC	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM Sent: 7/21/2021 3:45:33 PM Sent: 7/21/2021 3:45:34 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Shelley Caldwell scaldwell@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None)	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM Sent: 7/21/2021 3:45:33 PM Sent: 7/21/2021 3:45:34 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Shelley Caldwell scaldwell@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM Sent: 7/21/2021 3:45:33 PM Sent: 7/21/2021 3:45:34 PM		
Carbon Copy Events Amber Carter acarter@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Robert Companion RCompanion@nassaucountyfl.com County Engineer Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure: Not Offered via DocuSign Shelley Caldwell scaldwell@nassaucountyfl.com Nassau County BOCC Security Level: Email, Account Authentication (None) Electronic Record and Signature Disclosure:	COPIED	Timestamp Sent: 7/21/2021 3:45:31 PM Resent: 7/21/2021 3:45:41 PM Sent: 7/21/2021 3:45:33 PM Sent: 7/21/2021 3:45:34 PM		

Security Level: Email, Account Authentication

(None)

Carbon Copy Events

Status

Timestamp

Electronic Record and Signature Disclosure:

Accepted: 2/17/2021 1:24:06 PM ID: b3c09861-2ece-4d64-abe9-7130013cf5e3

Amy Bell

abell@nassaucountyfl.com

Administrative Manager

Nassau County BOCC

Security Level: Email, Account Authentication

(None)

Electronic Record and Signature Disclosure: Not Offered via DocuSign



Sent: 7/21/2021 3:45:37 PM

Witness Events	Signature	Timestamp
Notary Events	Signature	Timestamp
Envelope Summary Events	Status	Timestamps
Envelope Sent	Hashed/Encrypted	7/13/2021 3:59:00 PM
Certified Delivered	Security Checked	7/21/2021 3:45:17 PM
Signing Complete	Security Checked	7/21/2021 3:45:29 PM
Completed	Security Checked	7/21/2021 3:45:37 PM
Payment Events	Status	Timestamps
Electronic Record and Signature	Disclosure	

ELECTRONIC RECORD AND SIGNATURE DISCLOSURE

From time to time, County of Nassau (we, us or Company) may be required by law to provide to you certain written notices or disclosures. Described below are the terms and conditions for providing to you such notices and disclosures electronically through the DocuSign system. Please read the information below carefully and thoroughly, and if you can access this information electronically to your satisfaction and agree to this Electronic Record and Signature Disclosure (ERSD), please confirm your agreement by selecting the check-box next to 'I agree to use electronic records and signatures' before clicking 'CONTINUE' within the DocuSign system.

Getting paper copies

At any time, you may request from us a paper copy of any record provided or made available electronically to you by us. You will have the ability to download and print documents we send to you through the DocuSign system during and immediately after the signing session and, if you elect to create a DocuSign account, you may access the documents for a limited period of time (usually 30 days) after such documents are first sent to you. After such time, if you wish for us to send you paper copies of any such documents from our office to you, you will be charged a \$0.00 per-page fee. You may request delivery of such paper copies from us by following the procedure described below.

Withdrawing your consent

If you decide to receive notices and disclosures from us electronically, you may at any time change your mind and tell us that thereafter you want to receive required notices and disclosures only in paper format. How you must inform us of your decision to receive future notices and disclosure in paper format and withdraw your consent to receive notices and disclosures electronically is described below.

Consequences of changing your mind

If you elect to receive required notices and disclosures only in paper format, it will slow the speed at which we can complete certain steps in transactions with you and delivering services to you because we will need first to send the required notices or disclosures to you in paper format, and then wait until we receive back from you your acknowledgment of your receipt of such paper notices or disclosures. Further, you will no longer be able to use the DocuSign system to receive required notices and consents electronically from us or to sign electronically documents from us.

All notices and disclosures will be sent to you electronically

Unless you tell us otherwise in accordance with the procedures described herein, we will provide electronically to you through the DocuSign system all required notices, disclosures, authorizations, acknowledgements, and other documents that are required to be provided or made available to you during the course of our relationship with you. To reduce the chance of you inadvertently not receiving any notice or disclosure, we prefer to provide all of the required notices and disclosures to you by the same method and to the same address that you have given us. Thus, you can receive all the disclosures and notices electronically or in paper format through the paper mail delivery system. If you do not agree with this process, please let us know as described below. Please also see the paragraph immediately above that describes the consequences of your electing not to receive delivery of the notices and disclosures electronically from us.

How to contact County of Nassau:

You may contact us to let us know of your changes as to how we may contact you electronically, to request paper copies of certain information from us, and to withdraw your prior consent to receive notices and disclosures electronically as follows:

To contact us by email send messages to: bsimmons@nassaucountyfl.com

To advise County of Nassau of your new email address

To let us know of a change in your email address where we should send notices and disclosures electronically to you, you must send an email message to us at bsimmons@nassaucountyfl.com and in the body of such request you must state: your previous email address, your new email address. We do not require any other information from you to change your email address.

If you created a DocuSign account, you may update it with your new email address through your account preferences.

To request paper copies from County of Nassau

To request delivery from us of paper copies of the notices and disclosures previously provided by us to you electronically, you must send us an email to bsimmons@nassaucountyfl.com and in the body of such request you must state your email address, full name, mailing address, and telephone number. We will bill you for any fees at that time, if any.

To withdraw your consent with County of Nassau

To inform us that you no longer wish to receive future notices and disclosures in electronic format you may:

i. decline to sign a document from within your signing session, and on the subsequent page, select the check-box indicating you wish to withdraw your consent, or you may;

ii. send us an email to bsimmons@nassaucountyfl.com and in the body of such request you must state your email, full name, mailing address, and telephone number. We do not need any other information from you to withdraw consent.. The consequences of your withdrawing consent for online documents will be that transactions may take a longer time to process..

Required hardware and software

The minimum system requirements for using the DocuSign system may change over time. The current system requirements are found here: https://support.docusign.com/guides/signer-guide-signing-system-requirements.

Acknowledging your access and consent to receive and sign documents electronically

To confirm to us that you can access this information electronically, which will be similar to other electronic notices and disclosures that we will provide to you, please confirm that you have read this ERSD, and (i) that you are able to print on paper or electronically save this ERSD for your future reference and access; or (ii) that you are able to email this ERSD to an email address where you will be able to print on paper or save it for your future reference and access. Further, if you consent to receiving notices and disclosures exclusively in electronic format as described herein, then select the check-box next to 'I agree to use electronic records and signatures' before clicking 'CONTINUE' within the DocuSign system.

By selecting the check-box next to 'I agree to use electronic records and signatures', you confirm that:

- You can access and read this Electronic Record and Signature Disclosure; and
- You can print on paper this Electronic Record and Signature Disclosure, or save or send this Electronic Record and Disclosure to a location where you can print it, for future reference and access; and
- Until or unless you notify County of Nassau as described above, you consent to receive
 exclusively through electronic means all notices, disclosures, authorizations,
 acknowledgements, and other documents that are required to be provided or made
 available to you by County of Nassau during the course of your relationship with County
 of Nassau.